ORIGIN := 1
NWWWM

T:=373.15 P:=30
M
Methane
Tc = 190.6 Pc = 46.1 w:= 0.011
T P
T = —=1958 P = — =0.651
Te Pc

o= [1 + (0.37464 + 1.54226-w — 0.26992-w2)~(1 - \/?rﬂz = 0.712

p p
A= 0.45724-—— . = 0.055 B := 0.0778-— = 0.026
r

p=-1+B q=A-28-3.8° r= A-B+B 48

solve , X
— 0.97335026651954664607

assume , X = real

3 2
N=X +p-X +gX+r

7= max(N) =0.973

3 Cn(r_ ) A .nZ+(1+\/§)-B ~
d).—exp{z 1-1In(z-8) B.\/§IL+(1—\/E)-BH_O'972

Ethane
o= 305.3 Po= 49 = 0.099
= 0.612



Q= [1 + (0.37464 +1.54226-w — 0.26992-w2)~(1 - \/Tr)}z = 0.892

p p
A= 0.45724-—— .o = 0.167 B .= 0.0778-— = 0.039
MWV MA

2 T
T, r

2 2 3
ARA':_l’LB A9/\.:A—ZB—3-B /&/.:—A-B+B +B

solve

— 0.87020053012053604464
assume , X = real

3 2
/\/\N/\/::X +pX +qg:X+r

2= max(N) = 0.87

3 (e A 'nz+(1+\/§)-|3 ~
@v.—exp|:2 1-In(z-8) B.\/§|L+(1_ﬁ).3ﬂ_o.879

Alternative Solution

wootlp.a.r) = |ve

= T QO

X < polyroots(v)
for iel.3
Xj <0 if Im(x;) =0
x1 <« max(x)
y < min(x)

X2 <« max(x) if y=0

x1
X2
190.6 46.1 0.011
T = P_ = W=
M| 305.3 M 49.0 MW\ 0.099

y otherwise




for

2
o « [1 + [0.37464 + 1.54226 w; — 0.26992(wi)2]-(1 - [T rﬂ
i

P'ri‘Oq

2
(")
1
P.I’i
Bj < 0.07780-—

T.r.
1

Aj < 0.45724.

pj < -1 + B;
qj < Aj— 2Bj — 3(Bi)2
ry < (_A)i'Bi + (Bi>2 + (Bi)3
Zj < root(pi , i, ri)l
A; zi+(1+2) 8
< /8B -InLi +(1- \/E)'BJ

bj « exp(Zi -1- In(Zi - Bi) - @i>

Oj



